
LEVER
PR8-04#-USPAFG13

BAG STRAP HOOK SIDE COMPLETE
P08-P04-USASSMA6

17 BAG STRAP RING SIDE
PR8-11H-USASSM

SADDLE PIVOT
PR8-09H-USPAFG2

M6 X 53mm BOLT
B1C-03X-FWM6536

LEFT HANDLE PIVOT
PR8-07H-HCPAFG3

RIGHT HANDLE PIVOT
PR8-08H-HCPAFG11

M8 X 163mm HINGE BOLT
MR8-11X-MSM8XX

06-M44-M6x6NL

15

M5 X 31mm CSK BOLT
BR8-05X-USM53114

SPRING innerØ15x30mm
UPPER HINGE SPRING 
MR8-10X-US15XX

10

M8 WASHER
06-M57-M8WS4

M8 NYLOCK NUT
06-M46-M8NL5

42mm INTERNAL END CAP
PR8-12H-USPPXX1

M6 NYLOCK NUT16

10

6

M5 NYLOCK NUT
06-M43-M5NL12

9 BAG STRAP HOOK SIDE
PR8-10H-USASSM

BAG STRAP RING SIDE COMPLETE
P08-05#-USASSMA7

# - TO SPECIFY COLOR

G - GREY
B - BLUE

R - RED
L - LIME

18 STRAP CLIP
PR8-60#-USPPXX

19 ST3.0 x 12mm SCREW
BR8-41X-USST03

8 UMBRELLA VELCRO
06-C08-VELCO-002

7 ST4.0 x 14mm PB SCREW
B1C-33X-FWST04

UPPER SADDLE ASSEMBLY


